Tooslo%'- % |

N ek %
QQw\M o\ﬁxg '.

MyMathLal

'l Liv\cav IY\A@/\)@\&QV\@

,% : LiY\Qa\f Tfﬁv\ S{OW{'I\OV\_S

Homework #1 € 47 Dug TONIGHT /

.

MATLAB HothWofl‘\ #] DM TONIGHT J
MATLAB Hovn(,wofl’\ ¥2: Due thg Frl‘r/{a'j..

MidAerm {:

N st \/\lea() Jaa 3 %—{OPM.

0 Hice hou: Lomorron (Tm} 9:30-11:00 am



COns?Dkev dexe, qco\\om‘v\ﬂ Pee \/z()rowb,

Hov\) &\001& J(\rxeje Jdnf&% \/GC’EKS"

il

-l
|
2
b ¢

2
o)
l

a



Wbe,gmijy{ow. A colection of vecors i, w5 alled
\\‘V\gar\‘s O\.QPQY\OLQY\JY \/g aJY |MSJY onl mf%\bm
19 A, JY\MQ) 6\?0/\/\ o](V JaAQ) O'H/\QY”S-

LC a f(,j( ow( w{cj(grs 1} v\o+ lw_ar{g Azq)ey\ckwjr)
we Call the \/QCJ(QG \l“neqMB |’v\gh}>end€w} _



T\/\e.omm, Vedkors W, Uy, - Uy Ve M&Wﬁ v\;i%?@mdl&n
T ond OV\@ F% B, vector eﬁmqumvu

KUy Xty ¢ U O
has only Ht deivial selution, X=K= =% -0

Cofo\‘ﬂwﬂ\)\, We, Coluw\wé of a V\/\ﬂtj(rfx A AR lmea(%
wkammw( H Ax=0 has anly e
Fe 1V M\ Soluitlon, X=0,



o

~

Qo —
- O



W ot ﬂWO on, OW( fe vedtors s O ?

\/J\’\@JC \§ JV\/\WQ) B o\/\lxﬂ one \/QQJFOW ?

What \gj %m 0% oV\% ho Vee O(S?






T\/\Q»O\I\QW\ : —T\\/\Q Coluvv\né o( G majw\\y A ave \'mea(@
\'vwk@\)awunjr \W A has g ])\"\)QJE posl'Jm‘o\/u
n evely Coluwmn
(Q”»wase) the quSWL novafvoﬂLq) co{u\wwu
s c lmear Combination, m( the Pr@cdmﬂ

ont5. i Co@fﬁd@njﬁ reo @”ﬁf of e we{.)

Co«o\\mz I A has wore Columis Hnan vows |
{st w(mwmj AR \mw\ﬁ ie?md&v\%



